Montagematerial / Mounting Material

Alpine Aescue Equprment.

TYROMONT

RETTUNGSANHANGER
RESCUE TRAILER

MG /19.02.2019

Version: 3.0

93160

Montageanleitung - Rader Nachristsatz
Mounting Instruction - Wheels Add-on kit

Nr./No. Artikel / Article | Dim. 4
1 Sechskant-Schraube / Hexagonal screw M8x40| 4
2 Beilagscheibe / Flat washer M8x20 8
3 Stop Mutter / Lock nut M8 4
4 Sechskant-Schraube / Hexagonal screw M 16 x 40 2
5 Beilagscheibe / Flat washer M 16 x 50 2
6 Rad-Schraube /Wheel screw M12x 25| 16




